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BB - S (31) - MRAY - BES Ol &t o San HmEET
1,506,845 1,723,696 A 216,851
22 XA 1,413,331 1,634,782 A 221,451
1,345,014 1,393,414 A 48,400
1,345,014 1,393,414 A 48,400
2 Il 167,772 200,984 A 33,212
22l | 106,188 149,092 A 42,904
gt=Z H| 82,988
O F OFLH MM+ 22t 5,000,000& x13] 5,000
o5 MF HE U ALE HEE ME
600& *2,0000H 1,200
4% 2 HEEE 20 2Y
5,000& *500& 2,500
—o¥=E M 50,000& *44 4 2,200
— oY YR LA ME 30,000 1008 3,000
—olgle gt 10,000& 6005 6,000
—oRAAS &2t 6,000 *x50F 35 *23| 1,800
—XNENXYE H SZEAS 2 X HI
g2t 3,000,000& =13l 3,000
— 23 22& 012t WA 3,000& *5004 1,500
— o THAZ 250 28 HSA =&
2,000,000 x1A 2,000
—AE =8 1,000, 000& 1A 1,000
— o3 EEE Iy (AFY 2ARY Y,
o3 &) 1,500,000 *3H 2 4,500
ALY 4| MEER
50,000& 501 » 12 3,000
S| AR A ALRI1J] | X
237,000& +5CH 43 4,740
=32 QY HE2E JHE
1,002,000& =122 12,024
AT AMA 2Y 2,000
SHIFD 2Ee RsE2
10,0003 *10& 55 *23| 1,000
NYTX & XNL2s dHAEZA
20,000& x50& 1,000
Aoz & AXEHH 23 A2, 2
HER=E= 180, 0002 *2H J| 2t 43 1,440
IHE NEZ(232AF, A3/, oA,
2o &4l) 2,800& *747m" x23| 4,184
=22 A Tt AE
20,000 2501 23] 1,000
AEHEE 02 & OV0 +¢
2,000& *300& 600
— 29 4B NEE 2F HIDY
300,000 *4 4 1,200
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—WAHOZ 2 (EHOIX,EIAIAE)
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—JIEt=SHI(2E, 2AE, AFFL AIRA
) 0,000& x6IH A %122 3,600
—24E 32, XEgS & AME MG
2503 «40001 x12& 1,200
—Jl2YE JIEgsE 7 20,000 x50& <123 12,000
— 23 AL ScHIE M 100, 000& *62l 600
— o3 YSE CXE tolet oty 7
500,000 =14 500
Oo2d+¢ 6,400
— I2HSAN = 200,000 x2H 128 4,800
— o BR=22 6 MARAS 3o FHA
=g 100,000 »6H x 13| 600
-89 2N e ¢ 200,000& x53] 1,000
Ogxs 16,800
— 23 g S HA X2
900, 000& *2CH 23] 3,600
— =39 HUES 2otEH SR
1,100,000& 1204 & 13,200
02 =24l 40,584 39,892 692
OA&EHl s Xl 29,304
—SH ESAE AL 30,000,000 *2% 600
—SEANE 2AH(A4LAAS, L3194)
35,000,000 *4% 1,400
— CCTVAI € R Xl Hl 500,000 » 14! 500
—= 3o ¥ SEIII |AHI
62,000,000 *3% 1,860
— 23 8HO0IX ¥ 3=, deleds |
21l (S/W) 70,100,000 *10% 7,010
— EOotMBI(SSL) & E++5 80,0008 *12& 960
— 23 EHO0IX MB |AZH
40,510,000 x10% 4,051
— 2% MHEMAAH KRIEH
14,309, 1002 »10% 1,431
— =229 Y Es RAZ S
19,400,000& *10% 1,940
— & HOIX INS MHlA =2
154,000& 128 1,848
SAEEANAH & A= KX 22l
58,080,000 *5% 2,904
— AR AHOEYSES 0B S
400,000& x12& 4,800
O XHE & Bl 11,280
—sEN(sEs)
1,400 604 *63| x1CH*128 6,048
- SE(ZR) 1,200 604 *33|x1CH*12& 2,592
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— XA el 22,000,000& »2CH 6% 2,640
03 #HAL2 Z bl 21,000 12,000 9,000
OdY A2 E3l 319 Jizl 8,000,000& 13 8,000
ONGRA AlZsl o 23l Nzl
5,000,000& =13l 5,000
OFE A o & AIGIEH 203 Nz
1,500, 000& *23| 3,000
O0&eol 2223 M=zl 1,000, 000& *23| 2,000
OXOH 2H=20t 2EH 2tE3 Izl
3,000,000& x13] 3,000
202 odl 29,368 24,871 4,497
01 = LH o4 1l 14,368 14,871 A 503
ogzes NF Nz=d &%
210,800& x 108 13 2,108
OXY & NLA BEEols] S 49T 4
HAR Y] 150,000& »2H «23| «12& 7,200
OMIDILE =8 Z2& 0Hl 210,800& «6% 42| 5,060
03 =220l 15,000 10,000 5,000
Oolg 2gloia +3 T2 Ot
2,500,000 »4H x13] 10,000
Odetdz Xgos 2 2R didds o
u]l 5,000, OOO%*1D:'*1§| 5,000
203 YR =] 10,800 10,800 0
03 Al =X A2 =X 10,800 10,800 0
OoNEY 22 BHE 2F(2F)
4,000,000 =12 x90% 3,600
oMo oFAD HHE 2 (ML
) 2,000,000& 43 x90% 7,200
205 2| 3| bl 1,124,574 1,125,759 21,185
01 ¥ &=l 290,400 290,400 0
O%d ¥ &=l 1,100,000 x22H x12& 290,400
02 3% 463,320 463,320 0
O9d ¥ 1,755,0003 x22H 123 463,320
03 & =LH0AbI 70,878 63,919 6,959
Oclgigia U NS Ot
307,000 x22% x4 3| 27,016
OadAR3 &3 ¢l 307,000& x22H x23| 13,508
O&EAl - 223l &3 3o S FA0HI
150,000& *1H +23| « 128 3,600
OXgos o d2uUUH
307,000& x22F *13] 6,754
OYE X5 #u DS
10,000, 000& 23] 20,000
04 2/ =2 0t 48,400 48,400 0
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Ot Y H& A=3AZE 04l 44,000
-9 2,000,000& »22H 44,000
Oo% HA=FH (NUZHZAl) &2 0l
44,000,000 *10% 4,400
05 Z2EEsSE 117,600 117,600 0
O Ad=2Z 224 4,800,000 *x22H 105,600
OMMZASHAAS AHSARE Al
1,000,000& =12 12,000
06 23 2HYRFEH| 91,280 91,280 0
oo 2,620,000& x12& 31,440
o 1,260,000& »12& 15,120
Oy d 860,000& »4H 128 41,280
OUMZAMSHEAS /AT
860,000& 1 x43] 3,440
07 I ZEHEAMELE S 6,600 8,600 A 2,000
O&= AIZXXF2S s RES
6,600,000& x13l 6,600
08 == RE= 19,200 26,400 AT7,200
Oolg 20113 |2 23
100,000& =16 «12& 19,200
09 =R HURE = 16,896 15,840 1,056
Ool® ALY |2 23
64,0003 x22H 128 16,896
304 A=3RE=S 9,000 9,000 0
03 @i RE= 9,000 9,000 0
OXSR Q& M S 243
9,000,000& =14 9,000
405 XtAHE SHI 3,500 22,000 A 18,500
01 AR ESFH S 3,500 22,000 A 18,500
Oz as YR E Jtillet XE A= +
2 3,500,000& » 14 3,500
oA 2 XIZ 68,317 67,368 949
oM 2Y XA 68,317 67,368 949
201 Let24E| 59,040 57,440 1,600
01 At 22l 59,040 57,440 1,600
OgBt=&H| 54,000
— 3o EL2 (LA, Helz, Eg2A23 S
) 6,000,000& =83l 48,000
—HENDLA N2E L
4,000,000& *13] 4,000
— 2ol 2239 395 &2t
2,000,000& =13l 2,000
O=etl 5,040
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—delal & FAE M2 S20HAH
7,000& x8H +90 5,040
202 O4dl 9,277 9,928 A651
01 = LHA YI 9,277 9,928 A651
O&YAAs HuwAs =3 XA OH|
210,800& 40 91 & 2] 2 #23] 3,373
OSE2&s ¢ 43 2 8XNEsS ¢
bl 210,8002 *4JH 2| & 5] 2% x23| 3,373
OHESS AWEE BX NE+E HE oYl
210,800& x4H «23| 1,687
O AP HwAS =3 HANH|
210,800& x2H +23| 844
HE2LZHI (2SI AR Z) 93,514 88,914 4,600
23U (Y3MRR) 93,514 88,914 4,600
JI2ZHI (23 AIR =) 93,514 88,914 4,600
201 et 39,804 35,604 4,200
01 At 22l 34,342 30, 142 4,200
OgBt=&H| 25,522
—JIE2MREEY 100,000& »22H 2,200
—JIEt=8HI (2 A21) 100,000& *123] 1,200
— SAD FRA22H(EUHRY S)
350,000& *2CH 43 2,800
—SAENFY 20,000& x15% A %128 3,600
— gy % HA X2
237,000 »4CH x4 3 3,792
— AR =8| EY
237,000& x10CH 23] 4,740
—Z=EAMI EY WA 750,000& *4H 3,000
—JI2&8A223Hl 150,000 23| 300
— St A HIO |A&2 20,0002 * 1500 x43] 1,200
— 22U AP =4 L 2e(a2 S)
100,000& =128 1,200
— NS EIJIBA=3 25,0002 201 x13] 50
— QMg ¥ PRE XY NIt
12,0003 *2CH *53]| x 122 1,440
O=gtl 8,820
—SEYR FA HNE E20AH
7,000 x14H 902! 8,820
02 23=2gHl 5,462 5,462 0
Oz22= & HAl 5,462
—REE= 2,502
ot H 2403 «500A4 123 1,440
soleH 1, 7703 x50 123 1,062
— NS XA 305,000 *2CH 23| 1,220
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gelr J23H(dsMR2) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
- NSAHEEE 800, 000& »2CH 1,600
—UPE Y HANLSES
70,000 »1CH »23] 140
202 044l 42,240 42,240 0
01 SLHOYI 42,240 42,240 0
O2A2Yg & AHESER 2UHEZE I
20,000 x22H «83| x12& 42,240
203 YR =&l 11,070 11,070 0
01 JI22H =4 2,970 2,970 0
OMEFE(43) 3,300,000& »1H x90% 2,970
04 FENSELR=LH| 8,100 8,100 0
OME= 350,000& = 12& x90% 3,780
OdEZeaa 100,000 & *40H 2~ %12 «90% 4,320
405 XtAHE SHI 400 0 400
01 AL EFH S 400 0 400
OMRA &5 ZelH)| WA (R A
) 400,000 104 400
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